MULTIPLE CNOICE -

P - In the equation y = 4x + 7, what is the y-intercept?




MULTIPLE CNOICE -

P - What is the gradient of the line y = -3x + 57




MULTIPLE CNOICE -

P - A line passes through (0, 8) and (2, 12). What is its y-intercept?
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MULTIPLE CNOICE -

P - A line passes through (1, 3) and (3, 9). What is its gradient?
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MULTIPLE CNOICE -

P - What is the y-intercept of y = 2.5x - 4?




MULTIPLE CNOICE -

P - A line has equation 2y = 6x - 10. What is its gradient?




MULTIPLE CNOICE -

P - What is the gradient of the line passing through (0, 0) and (4, 8)?

\ © The Maths Vault 2025




MULTIPLE CNOICE -

P - In the equation 3x + 2y = 12, what is the y-intercept?
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™~ MULTIPLE CROICE -

P - A line has gradient 3 and y-intercept -2. What is its equation?

y =-9x -2 N

© The Maths Vault 2025




MULTIPLE CNOICE -

P - What is the gradient of y = -x + 9?




MULTIPLE CNOICE -

P - A line passes through (0, -3) and (1, 1). What is its y-intercept?
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MULTIPLE CNOICE -

P - What is the y-intercept of 5y = 10x + 15?




MULTIPLE CNOICE -

P - A line passes through (2, 8) and (4, 12). What is its gradient?
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MULTIPLE CNOICE -

P - In the equation y = (1/2)x - 6, what is the gradient?




MULTIPLE CNOICE -

P - What is the y-intercept of the line x - 3y = 97




MULTIPLE CNOICE -

P - A line has equation 4x + y = 10. What is its gradient?




MULTIPLE CNOICE

What is the y-intercept of y = 7x?

undefined

\
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MULTIPLE CNOICE -

P - A line passes through (-1, 4) and (0, 6). What is its gradient?
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MULTIPLE CNOICE -

P - Iny = -0.5x + 2.5, what is the gradient?




MULTIPLE CNOICE -

P - What is the y-intercept of the line passing through (3, 11) with gradient 2?
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